YEDEK PARGALAR

SPARE PARTS
ERSATZTEILE

Takim Kodu
Ordering Code

Bestell-Bezeichnung

AAV-01-M3x10 TSISTEM Igln [For T-SYSTEM/ FU/? FSYSTEM

AAV-14-M5X14 ADCR igin/ For ADCR/ FUR ADCR

o .
N
B

o

- . . . - Uriin Detay / Product Detail | Produkt-Details

WNMG 06, KNUX 16

ADCR Montaj Vidas! / Mounting Screw / ADCR BEFESTIGUNGSSCHRAUBE

Takim Kodu
Ordering Code
Bestell-Bezeichnung

TSISTEMign/ For T-SYSTEM/ AR FSKSTEM

A L R L C-SISTEMigin/ For C-SYSTEM/ ARC:SYSTEM

AAV-04-M5X12 M5X0.8 12 1.2 65 3 TSISTEMigi/ For T-SYSTEM AR ESYSTEM

3 TSISTEMigin/ For T-SYSTEM/ R ESKSTEM

= ==

Cc
MEN
e

N
NS

Uriin Detayi / Product Detail /| Produkt-Details

TNMG 16

Takim Kodu
Ordering Code
Bestel|-Bezeichnung

AAV-06-M3.5X11 505 W3506 11.3 6 3.5 1.2 SSSTEMigh/ R SSISTEM/ ARSSISTEN

AAV-16-M3.5X8 NGX05 N3506 8 6 20 1.1 SSSTeMign/FrSSISTEN) AR SSysTem

- - . . . - Uriin Detay1 / Product Detail | Produkt-Details

CCMT 09, DCMT 11, VBMT 16, VCMT 16, TCMT 16, SCMT 09, 16 ER/L, 16 IR/L

SEMT13

382/383






